130
- = - 75 _
. 97 _ _ 48 _
| )
A © © | |
BUTTON 1
(Red)
: g*—ﬁ
(Q\|
—i
BUTTON 2 2 \
(Red)
S| 1 o o
o\ A
BUTTON 3
(Red) ) q
Lo —’WA
(q\|
—
BUTTON 4 I
(Green) 1
| o o
| | )
FRONT VIEW SIDE VIEW
Notes:

1. This drawing shows PBP-044/C6, which is a customisation of PBP-044/C0.

2. Switch arrangement for PBP-044/C6 model.

Red latching mushroom Pushbuttons, twist release.
Green momentary mushroom Pushbutton.

Type - Switches have 1 x Normally Closed contact and
1 x Normally Open contact.
These each have independent clamping type screw
terminations.
Switch N.O. contacts are pre-wired to first 4 inputs of

ADAM Ethernet 10 Module - DIO, DI1, DI2 and DI3 respectively.

2. There is no panel artwork for PBP-044/C6.

3. For other customisations, contact Jacques.

ALL DIMENSION IN MILLIMETRES

DO NOT SCALE

IF IN DOUBT - ASK!

4 - BUTTON EVACUATION PANEL WITH

ADAM MODULE, PoE POWER SUPPLY AND BACK BOX

(PBP-044/C6 MODEL SHOWN)

PoE POWER SUPPLY

L

REAR VIEW
SHOWING WIRING

ADAM-6060 MODULE

Check ouput is
setto 12V

LAN + PoE input
CAT 5/6 cable
T568A termination
cable connection to
PoE network switch

- DIO )
- DI 1

ORIENTATION OF
SWITCH TERMINALS

Normally Open (NO)
terminals

Green tab identifying
NO terminals

Normally Closed (NC)
terminals

Red tab identifying
NC terminals

ENLARGED VIEW SHOWING
LAN + PoE CONNECTION

LAN

DI O

@
DI 1 —ire
DI 2—[3
DI3

ADAM-6060
Ethernet I/O Module

- DI 2 ! 9 pin plug supplied with
- DI3 [ Adam-6060 module

-

RJ-45
Ethernet

DI O
DI 1
DI 2
DI 3
Dl 4
DI 5
RL 5+
RL 5-

Isc. GND

(B) GND

MMM

+ 00 -

H_J
Power Input

(10 - 30) V d.c.

REV DATE

CHANGE DESCRIPTION

BY

0 |2017-12-15| FIRST RELEASE

LFB

1 |2018-08-10 | SECURITY SCREWS, (HW684, M4x25 mm) CHANGED TO HW135 (M4x30 mm). 30 mm HEX SPACERS ARE IN BACKBOX KIT. |LFB
GASKET, HW292, REMOVED. (GASKET NOT REQUIRED WHEN NON WATER RESISTANT BUTTONS ARE USED)
VIEW OF FWE-1 BACKBOX REMOVED. INSTRUCTIONS REMOVED AS NOT APPLICABLE.
ORIENTATION OF SWITCH TERMINALS ADDED. ADAM-6060 MODULE DIAGRAM ADDED WITH DI 0, DI 1, D1 2, DI 3 ADDED.

9JACQUES

Future Proof Communications

(C) Copyright Jacques Technologies Pty Ltd. All rights reserved.
28-30 Bank Street, West End Q 4101
Ph: +61 7 3846 8400

WwWw.jacques.com.au info@jacques.com.au

4 - BUTTON PANEL
INSTALLATION DRAWING

(©)2019 Jacques Technologies PTY LTD

2 |2019-08-13 | WEATHER SEALING GASKET ADDED TO SIDE VIEW OF PANEL AND BACK BOX, SHEET 2. LFB
DRAWN: DATE: ADAPTED FROM: FILENAME:
LFB  2017-12-15 N/A 51978-INS.dwg
CHECKED: DATE: SCALE:; SHEET: SIZE:
N.T.S. 1 of 2| Al
APPROVED: DATE: DWG NO: REV:




DO NOT SCALE

IF IN DOUBT - ASK!

SURFACE MOUNTING DETAILS
SWE-9 SS BACKBOX

130
B 80 N 79 B (80)

A
Y

(79)

I
\
A
Y
I

FRONT PANEL T

290
240

©
©
|
|
(240)
©
©

©

©

|

|

©

©
\@@@@

@ @ T o\ {1° SIX M4 x 30 -
\ SIS SECURITY )
SCREWS -
(SUPPLIED) \ .
WEATHER SEALING i
GASKET

FOUR SWE-9 SS
BACK BOX MOUNTING
HOLES @5 mm

REV DATE CHANGE DESCRIPTION BY (C) Copyright Jacques Technologies Pty Ltd. All rights reserved.
28-30 Bank Street, West End Q 4101
0 |[2017-12-15 | FIRST RELEASE LFB ')’JACQU ES Ph: +61 7 3846 8400 Q

1 |2018-08-10 | SECURITY SCREWS, (HW684, M4x25 mm) CHANGED TO HW135 (M4x30 mm). 30 mm HEX SPACERS ARE IN BACKBOX KIT. |LFB Future Proof Communications | www.jacques.com.au info@jacques.com.au

GASKET, HW292, REMOVED. (GASKET NOT REQUIRED WHEN NON WATER RESISTANT BUTTONS ARE USED).

VIEW OF FWE-1 BACKBOX REMOVED. INSTRUCTIONS REMOVED AS NOT APPLICABLE. 4 - B UTTO N PAN E L

ORIENTATION OF SWITCH TERMINALS ADDED. ADAM-6060 MODULE DIAGRAM ADDED WITH DI 0, DI 1, D1 2, DI 3 ADDED.

2 | 2019-08-13 | WEATHER SEALING GASKET ADDED TO SIDE VIEW OF PANEL AND BACK BOX. LFB I N STAL LAT I O N D RAWI N G

DRAWN: DATE: ADAPTED FROM: FILENAME:
LFB  2017-12-15 N/A 51978-INS.dwg
ALL DIMENSION IN MILLIMETRES CHECKED: DATE: SCALE: SHEET: SIZE:
N.T.S. 2 of 2| A2
. APPROVED: DATE: DWG NO: REV:
(©)2018 Jacques Technologies PTY LTD 51978-INS | 2




